
John Deere > Agriculture >TRACTOR >5076E - TRACTOR >5076E Tractor (Worldwide Edition) (PC6120) >70 Hydraulics >Dual SCV Joystick - ST820448

Copyright © 2020 Deere & Company. All Rights Reserved.1119



John Deere > Agriculture >TRACTOR >5076E - TRACTOR >5076E Tractor (Worldwide Edition) (PC6120) >70 Hydraulics >Dual SCV Joystick - ST820448

KEY PART NO. PART NAME QTY REMARKS

1 RE207317 Basic Control Unit 1 INCL KEYS 2, 3, 4, 5, 6, 7, 8, 9, 10

2 RE230264 Housing 1

3 R230282 Piston 2

4 RE230265 Control Lever 1

5 R230269 Lever 1

6 R230281 Bushing 2

7 R230562 Screw 2

8 R236244 Ball 1

9 R236243 Compression Spring 1

10 R230268 Boot 1

11 R208766 Shield 1

12 R218827 Shield 1

13 SJ291297 Cable 2 LGTH = 1051 mm

14 99M7014 Plug 1

15 37M7068 Screw 4

16 R232632 Label 1 Loader Control Lever

17 R218365 Label 1 Joystick Lock

18 R128357 Pin Fastener 2

19 11M7009 Cotter Pin 2 2 X 16 mm

Copyright © 2020 Deere & Company. All Rights Reserved.1120



KEY PART NO. PART NAME QTY REMARKS

20 R109390 Clamp 2

21 LVU16701 Grip 1

22 LVU16651 Grip 1

23 21H1486 Screw 2 0.190" X 1-1/8"

24 LVA12162 Lock Nut 2

25 37M7355 Screw 2

26 37M7356 Screw 1

27 RE264338 Bracket 1

28 03M7216 Bolt 1 M8 X 50

29 14M7298 Flange Nut 3 M8

30 03M7187 Bolt 2 M8 X 35

31 19M8069 Screw 2 M6 X 55

32 24M7054 Washer 4 6.400 X 12 X 1.600 mm

33 14M7303 Flange Nut 2 M6

34 03M7191 Bolt 4 M10 X 25

35 14M7400 Lock Nut 4 M10

Copyright © 2020 Deere & Company. All Rights Reserved.1121


	ST820448 - Dual SCV Joystick

